$$
\begin{gathered}
8 x^{5}+10 x^{4}=4 x^{3}+5 x^{2} \\
2 x^{4}(4 x+5)=x^{2}(4 x+5) \\
2 x^{4}(4 x+5)-x^{2}(4 x+5)=0 \\
(4 x+5)\left(2 x^{4}-x^{2}\right)=0 \\
(4 x+5) x^{2}\left(2 x^{2}-1\right)=0 \\
{\left[\begin{array}{c}
4 x+5=0 \\
x^{2}=0 \\
2 x^{2}-1=0 \\
{\left[\begin{array}{c}
x=-\frac{5}{4} \\
x=0 \\
x= \pm \sqrt{2}
\end{array}\right.} \\
{\left[\begin{array}{c}
2 \\
x=-\frac{5}{4} \\
x=0 \\
x= \pm
\end{array}\right.} \\
2
\end{array}\right.}
\end{gathered}
$$

Answer:

$$
-\frac{5}{4}, \quad 0, \quad \pm \frac{\sqrt{2}}{2}
$$

